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Which of the following are functions of the DB trigger within SAP Landscape
Transformation (SLT)?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. Ensure that replicated changes are kept within the logging tables. 
B. Record relevant changes in logging tables. 
C. Decluster table classes into a transparent format. 
D. Include only relevant tables for DB recording. 
 

Answer: B,D

 

 

 
The log volume is full and the SAP HANA database does not accept any new requests.
How can you solve this problem and bring the SAP HANA database online?
 
Please choose the correct answer.
 
Response:
 
 
A. Delete older log files from the log volume before the last successful database backup. 
B. Set the log_mode parameter to overwrite in global.ini. 
C. Run "Delete older backups" in the Backup Catalog. 
D. Move the log files to another volume and create a symbolic link to the new folder. 
 

Answer: D

 

 

 
When you try to create a delivery unit from the SAP HANA studio you receive the following
error message.
 
'Cannot create Delivery Unit as content vendor is not defined for this system'. How do you
troubleshoot this issue?
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Please choose the correct answer.
 
Response:
 
 
A. Maintain the vendor ID 
B. Maintain the content_vendor parameter 
C. Grant REPO.MAINTAIN_NATIVE_PACKAGES privilege 
D. Grant REPO.MAINTAIN_DELIVERY_UNITS privilege 
 

Answer: B

 

 

 
Which of the following components enables SAP HANA high availability?
 
Please choose the correct answer.
 
Response:
 
 
A. Index server 
B. Preprocessor server 
C. Statistics server 
D. Name server 
 

Answer: D

 

 

 
What is the maximum number of master name servers that you can define in a distributed
landscape?
 
Please choose the correct answer.
 
Response:
 
 
A. 8 
B. 2 
C. 3 
D. 1 
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Answer: C

 

 

 
Which of the following steps allow you to create a test system (system A) based on a
productive SAP HANA standalone system (system B)?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. Export the data from system B to a file share and import the data to system A. 
B. Restore a complete database backup from system B to system A. 
C. Copy a snapshot from system B to system A. 
D. Copy the data and log volume files from system B to system A. 
 

Answer: B,D

 

 

 
You need to combine unstructured data from an Apache Hadoop database with data in
your SAP HANA system. What do you use to achieve this?
 
Please choose the correct answer.
 
Response:
 
 
A. SAP Sybase IQ 
B. Full-text search indexes 
C. Virtual tables 
D. SAP Landscape Transformation 
 

Answer: C
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You are using the Change and Transport System (CTS) with SAP HANA.
 
When is the transport strategy determined?
 
Please choose the correct answer.
 
Response:
 
 
A. When the objects are attached to a transport request in the SAP HANA studio 
B. When the SAP HANA application type is configured in CTS 
C. When the connection to CTS is configured in SAP HANA studio 
D. When the export system is configured in CTS 
 

Answer: D

 

 

 
When you try to stop SAP HANA using the sapcontrol command, you receive the error
messagE. "Command not found". What is the reason for the error?
 
Please choose the correct answer.
 
Response:
 
 
A. The host agent is not installed. 
B. The SAP HANA database is not installed. 
C. The SAP HANA client is not installed. 
D. SAP SUM is not installed. 
 

Answer: A

 

 

 
Which of the following are advantages of using the SAP CO-PA accelerator?
 
There are 2 correct answers to this question.
 
Response:
 
 
A. Transforms data during the load step 
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B. Eliminates the need for customization 
C. Provides business configuration 
D. Reduces reporting time 
 

Answer: C,D
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